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x1-c

30 MA 109



)X

3
= - cltlu

/ 4

-4 0
3uni If x1 = 0, y1  ’ = -2

MA 109 31



w
N

II

I
wlvl



m
!1-Yo

zr. >  0
Pl--Xfl

Y

t

m Y1-40C-E 0
X,-Q

MA109 33



Y

A

0
)X

;lJ 2.1.7

m = yI--yo<O
x1-0

LtiyUqWMU3~J  (Vertical line)

Y

vertical line

4 - L

0 X

3 4 ‘IA 109



0 B

i31fI”JO  I liS 6 ~!“~?r-r,~~~pc~~~“U~~i~~?~  P,(s,,  yl)  LLR:  P&s,,  yB)

1 , ?,(-3, 3), P&2,  9) 7. P,(o.  o), P,( ;,  2 1

2 .  P,(l,  -I),  P&-S,  2) a .  p; ia, a),  P,(b.  b)

3. P,L2:  11, P&4.  7) 9. P, C-77. IO), p,( 5 1 ‘0)

4. P&6>  -31, P&2,  3)

5 .  P,(-2,  5), P&3,  1)

6 .  P,(l,  2),  P&O, I)

10. %XiQRJ~l

MA 109 35



36 MA 109



“2 = 5, y2 zz 7

7-2
m

=5-3

5
= -

2

HA 109 37



3-1m Z-Z-
3-2

ttB: B(5, 0) ;a 5 Cl  tlu

B(3, 5) LbB:  C(2, 6) 99%91

A “bdeis~lu  BC

33 MA109



4yo-12  zz - 5

4yo = 7

7
yr, = 1

HA 109 39



1.2 (3, 51, (6, 5)

1.3 (x,, 01, (0, yo)

1.4 (a, a’, (-a,  -a)

2 . 2 . 1  LLGA~ilU  P(-2,  5)  ttac  Q(2, 3) @Eltanu  x  Ll

2.2 ,, P(5,2) bbP: Q(I, 1) ,, Y ;Il@l
e

6 .  fhvLWW~~ I ,  ilU;bl  A(4.  z), B(7. I)

1,  :> C(2. 5!,  D(2, -I)

I,  >> ECO,  01,  F(1, 3)

40 MA 109



MA 109
41



tan 6 =
ma-ml

l&l  O’L0<  lf30~
ltmt  m2

tan as-tan  al
=

l+tan a2  tanal

v-ml
I+mzml

vi&

[pi&m2-ml- -
I+mlmz

42 MA 109



4

1= - -
i

MA 109 43



t a n 8, = - ml--m2
I+mlm2

3 1- -  -_
2 4ZZ

1+CI)( ’ )
2 i

-6.- 1
4= -

, - ’
8

8

1 8= --x-
4 5

6 i = tan-7  - ‘4,
5

t a n  e3  =
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t a n  0,  = n’2-m1
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4..am3 a).,tciui;uulu~u  y = 3x+7 &NlaJ~U = 3 lla:ilu~n  (5, 1)

ihm3  n"a

y - l  = 3L5)

=  3 x - 1 5

sy-3 zz -x -l-  5

xi3y  = a

2.5.6 dWl’l5?lL?rd  (The General Form)

vAI)By+C= . . . ..a.........(2.56)

PlDlJ

n&i  1  r;l  B  # 0 W1wa-1Mwi~  y Ii ;a

A Cy zz --x f -
B B

. . . . . . . . . . . . . . . (2.5.7)

Wlcs'i~EI  2.5.5 d&l dWll5 (2.5.7) LhWnlSLiiGi3J~L;U

slope--intercept form y = mxib

GJi  m = b = -; . . . . . . ...>.. (2.5.8)
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lY?El s cos a + y sin Cu  - p(sin’n  f cos’a)

Y  d
?hum xcosa+ysina-p  = 0

= 0

. . . . . . . . . . ..(2.3.2)
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Ax+By+C  = 0 . . . a........ (2.8.3)

LtWbti xcosa  +ysina  - P = 0 . . . . . . . . . . . . (2.8.4)

L~UdXl”lSLLUYUa;Ua~~aJt~u~~J  1

~U?lldkMi%Jnl~  (2.8.3) ~I?iL%Aaunlx  (2.8.4) iiln’Iamisfpa.ams

(2.8.3) ‘hi  k &Ti

kAx.+ kBy+kC  = 0 . . . ..I...  wt2.8.5)

9li=J'sllJn72  (2.8.U) LtW"dUnl3  (2.8.5) 9:%l

kA = cosa,  kB = sinct,  kC = -p

k2A2  + k2B2  = 2
2

cos a + sin a
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:t cr5  u +  y sin a - *I  = 0 . . . . . . . . . . . . (2.8.6)
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x1  cm a  i-  y1 sin a  - P = 0 . . . . . . . . . . ..(2.8.7)
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‘C  OA’ - K&
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Ld = ~~cosu+~:~sjnci--~
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